Tooslag'- % | 3¢ |_intar T\fﬁ\rxg’ﬁ?ﬂ/%‘l'l\anj
N gxk: % 1.9 The Yateix of & Lin Tramsf
[ ewmmolers:

MyMatnlab Homawork #5: Due Mon, Jan 9.
MATLAD Homuwork ¥2: Due flis Friclay

Middorm {0 Nest \/\IQA) \J—aq'MJ g-foPM.
Ly practice wisktenms posted on, webpage.
Ly seat assigammnt poded en TerdonEol



Tw DoV oms i C\&\SSQS)BQJV@ 5%0“&* 1(MndW"OV\S.

o —-n
GKQWCH\K) > COO@QW\O\\\\/\)

Efﬁ- %)Qq: LX . or w: xE-) X QK\/\(X)ﬁsiV\(X)

C\W\ﬂgﬂ‘ A\‘AQ '\W\&\SQ O( 0 W\QM)( 3 13 6(0>3 O,
Ls 04 avwl@ B g i g omaio st wage (s O ¢

\fang{’;'- /RN{) V\ﬁmgﬁ of ]C is

the SmL o‘p 4ll \wm@fzb :
of Jr\mﬂﬁﬁ e QQOMW\.




A\r\ o\A— -QQS\«}@v&A WO“BK /gof %/w\&\'svvw 1§ "V&ﬂ&fo«m&*‘f%.
,.DQS‘%\!\{JN\WD A W\&j!\f\\)k ke Gmfgomvx o, TR =R

1 QU \/m(;\’]\@f\_) 6\’\)@}0 % W\éﬁjfrrx W\%H(Pl\\Qqul\oVb
\oxj Qe win, mahvix AL

E-”)- A‘-{ g;k ~ T-R— R

i




0 1
ﬁae \W\%g o§ Xw \ tnder T 14
2

Does | map oy Aror vector i ﬂf f s veddor ”ZZ?

What 1o e rhnge of T ?



ot range Q]C T(R) = /\>_<?

lo':o
@) \{O
O 0|

|

fa L A%g\ To b

b
2
-9

'J’] VrQ{’)
55;’2 >

-1?:‘5

What © the nange o? T



39\/\/\ % %%OW\Q}V Qxﬁ'\\mﬁ

1 0O
TU&SZ[O\O X
Q0 O
- 10 -l
T 00 []OM



l__i\\(\ Qﬂwi\‘g M@AW\\X MWH\'P(\\%JH\W\J bglm\/% WQ” Mnﬂt@f
sddibon: A(u+v) =
5(0&(&\/‘ muﬂjvl'ﬁbhmjﬁ\ami A(C\l)

A liner ermgo«wmjc fovU)

TR — R"
5 0 §vm Klone Wit dhe PF@P@’JH\%
T(u+y) = for all u,ve R
T (ev) = for all ve R"

[“\quﬁx JYFOW\S{O\FW\@JEM\AS Os, &M\MPI% o]C J’(mmw{ R
anSTeMmg )OVLS.



O

|

POE Q}ML\\QS .

1 (o)

1 ( ¢Vt GVg 4 4 CK\ZMS =

¢, Tl \1\3 N CLT(\\/)> T CKT(E/LL_B

Egq T =R linear



